
 
Find a closed form: 

∑
𝐬𝐢𝐧(𝒏 − 𝟏) 𝐬𝐢𝐧(𝒏) 𝐬𝐢𝐧⁡(𝒏 + 𝟏)

𝒏
𝒏∈𝑵

 

Proposed by Ankush Kumar Parcha-India 

Solution by Pham Duc Nam-Vietnam 

𝑺 = ∑
𝐬𝐢𝐧(𝒏 − 𝟏) 𝐬𝐢𝐧(𝒏) 𝐬𝐢𝐧⁡(𝒏 + 𝟏)

𝒏
𝒏∈𝑵

 

𝑻𝒉𝒊𝒔⁡⁡𝒔𝒖𝒎𝒎 ∶ 𝑺(𝒙) = ∑
𝐬𝐢𝐧⁡(𝒏𝒙)

𝒏
=
𝝅 − 𝒙

𝟐
, 𝒘𝒉𝒆𝒓𝒆⁡⁡ ∈ (𝟎, 𝟐

∞

𝒏=𝟏

𝝅)⁡𝒊𝒔⁡𝒘𝒆𝒍𝒍 − 𝒌𝒏𝒐𝒘𝒏 

𝑺(𝟏) =
𝝅− 𝟏

𝟐
⁡, 𝑺(𝟑) =

𝝅 − 𝟑

𝟐
 

𝑺𝒊𝒏𝒄𝒆⁡ ∶ ⁡ 𝐬𝐢𝐧(𝒏 − 𝟏) 𝐬𝐢𝐧(𝒏 + 𝟏) =
𝟏

𝟐
(𝐜𝐨𝐬(𝟐) − 𝟏 + 𝟏 − 𝐜𝐨𝐬(𝟐𝒏)) 

𝑺 =
𝟏

𝟐
(𝐜𝐨𝐬(𝟐) − 𝟏)∑

𝐬𝐢𝐧⁡(𝒏)

𝒏
+
𝟏

𝟐
∑

𝐬𝐢𝐧(𝒏) (𝟏 − 𝐜𝐨𝐬(𝟐𝒏))

𝒏

∞

𝒏=𝟏

⁡ = −𝒔𝒊𝒏𝟐(𝟏)(
𝝅 − 𝟏

𝟐
) +∑

𝒔𝒊𝒏𝟑(𝒏)

𝒏
=

∞

𝒏=𝟏

∞

𝒏=𝟏

 

= −𝒔𝒊𝒏𝟐(𝟏) (
𝝅 − 𝟏

𝟐
) +∑

𝟏
𝟒
(𝟑 𝐬𝐢𝐧(𝒏) − 𝐬𝐢𝐧(𝟑𝒏))

𝒏
= −𝒔𝒊𝒏𝟐(𝟏) (

𝝅 − 𝟏

𝟐
) +

𝟑

𝟒
𝑺(𝟏) −

𝟏

𝟒
𝑺(𝟑) =

∞

𝒏=𝟏

 

= −𝒔𝒊𝒏𝟐(𝟏) (
𝝅 − 𝟏

𝟐
) +

𝝅

𝟒
=
𝝅𝒄𝒐𝒔(𝟐) + 𝟐𝒔𝒊𝒏𝟐(𝟏)

𝟒
 

 

 


